1 2 3 4 ) 6 / 8
- C9 ——~—17/0.05]A]
R .25 .. 79.5 _.C8 - nc7 _
33 4 C10 c2
_L__t
4 19(_8.03) < 1 14
N
N ‘ ‘5
-D—
gt \ - I I
, Y| M4 | 6o
// A\ I = | =
oo |— —_mr —1— —l [@]e]
L0 A o ~ , I 2 R
SN ‘ 92 3 g | —— >
\ / 2 | g
\ / Q' / | [\
L] Y 45°
\
PCD 44 / 90" 39 oX2
./ 2.5 C6183
4—-M4x9 g T 10 ,C4 max ,
/ \ DETAIL Z
/
1
DETAIL Z
SCALE 5:1
NOTE :
ONLY OUTPUT SHAFT WITH KEYWAY IS AVAILABLE
CM N Conjunction Applicability By Ratio Dimension [Unit : mm]
o-# |Plate 1516 [20[25]30[35]40]50]70 [100] c1 c2 c3 [ ca [ cs [ ce [ c7 | ca ] cog [cio] x1]x2
111300
1;?;82 o) —+—+—+—+—— 63 |4-M4x9 [12max| 25 | 40 | 3.5 | 55 |16.5| 121 | 9.5 72
CM1
17S300 Date 2014.06,17 Cool Muscle Gear 2—stage
23L200 _ - |l === |=|=|=|=]= (2008.05.02/2011.0519)  Tit| e
:2:?82 —+—+———166.675| 4-M4x9 |12 max| 27 |38.15| 3.5 | 55 [18.5| 123 [11.5| ~ | 75 Scale 1:1 CM—PEOS0
568200 — |-l =-|=-|=]=]= Size A3 Dwg No. CMSPE0502-30
CM2 | 60A100 - —[=[=1=1=1=1 70 [4-M5x10 30 | 50 [ 65 | 60 |21.5[ 126 | 14.5 80 RO A
60A20 - =1=1=-1=1=-1=-1=-1=-1=-71 = - - - | -1 =T =-1T=-1T-=71T+-= - ngle
Sonae R R R T e e e B e B B o B B = | Projction | ©—=3F| ®4  MUSCLE CO.,LTD.
1 2 3 4 5 6 | 7 | 8




